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The English Language Proficiency Test (Level 1)
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Part | Listening Comprehension &7 32 /& 40 %

Section | : Dialogue Comprehension i 43 ¥ 3%

Directions : In Section |, you will hear 10 dialogues between a man and a woman.
After each dialogue, you will also hear one question. Each dialogue
and question will be spoken only one time. Listen to the question
carefully and then read the four given choices on your test booklet.
Select the best answer or response to the question. Mark your answer
A, B, C, or D on your answer card.

Please Note: Mark your answer as soon as you hear the question.
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Example
M: I'd like a table for six, please.
W: I'm sorry. The restaurant is full. We have no more tables. But if you want to
wait about 20 minutes, I'll be able to give you a table.
M: All right, then.
Question: What will the man do next?
(A) He will go to another restaurant.
(B) He will come back the next day.
(C) He will wait twenty minutes.
(D) He will carry out some food.

The best answer to this question is C. Therefore, you should choose answer C.

Now let's begin Part | Section | with Question 1.
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(A
(B
(C
(D

Education.
Politics.
A race event.

N SN N N

The president.

(A) London.

(B) Hong Kong.
(C) Tokyo.

)

(D) Seoul.

(A) It was stolen.

(B) It was used for buying a new printer.
(C)
)

(D) It was given to a new company.

It was used for a celebration.

(A
(B
(C
(D

Give each worker a questionnaire to fill in.
Interview the employees individually.
Write a sales report.

N SN S N

Ask the workers to evaluate their own performance.

(A
(B
(C
(D

Her position on the issue was correct.
There won't be any more layoffs.
She may be promoted as a general manager.

N SN N N

She won't be laid off from her job.

(A
(B
(C
(D

A police officer.
A bus driver.
A driving instructor.

N SN N N

A cyclist.



10.

(A
(B
(C
(D

He changed his PIN number.

He put money into his account.

He withdrew all his money.

He renewed the accounting system.

(A) In Conference Room 2.

(C

)

(B) In the elevator.
) At reception.
)

(D) In the laundry room.

(A) In 5 days.

(B

)
)
(C)
)

(A
(B
(C
(D

In 4 days.
In 3 days.
(D) In 2 days.

Take the computer apart.
Switch off the computer.
Get a new computer.
Rewrite the report.

This is the end of Part | Section |.
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Section Il : Passage Comprehension 42 33

Directions : In Section I, you will hear several short talks. After each talk, you
will hear 2 questions about that talk. Each short talk and question
will be spoken only one time. After you hear each question, read the
four choices in your test booklet and choose the best answer to the
question you have heard.

Please Note: Mark your answer as soon as you hear the question.

FhRAXELZ A RWEZEARA B, C, D) L ARTEKTOHERMAKL » FH KM
ZERTEZREARLFE B@AEEF L 3108 B2 > 2205 -

11. What is the announcement about?
(A) A holiday schedule.
(B) A policy change.
(C
(D

) A recent accident.

) New overtime hours.

12. Why does the speaker make the announcement?
(A) Workers are taking too many day-offs.
(B) There have been some accidents recently.
(C
(D

) Employees are ignoring the old policy.
) Employees are asking for a raise.
13. Where is this speech being given?
(A) At a class reunion party.
(B) On a radio program.
(C
(D

) At a weekly division meeting.

) At an awards banquet.

14. Why is Nancy Harcourt given the award?
(A) She is a good sales manager.
(B) She works in a good division.
(C
(D

) She has exceptionally high sales.
)

She creates a new type of software.

4



15.What will the class do today?

16.

17.

18.

19.

20.

(A) Read books.

(B) Watch a video.

(C) Look at slides.

(D) Visit an art museum.

What is the subject of the class?

(A) Ancient Chinese history.

(B) Modern Chinese history.

(C) An introduction to Chinese architecture.
(D) Chinese language reading and writing.

What is the age range of the intended audience?
(A) 13-20

(B) 21-30

(C) 50-60

(D) 70-80

What advice will David Richards probably give?
(A) How to invest money and make it grow.

(B) How to find a government job.

(C) Where to go for holidays after retirement.
(D) How to be mentally prepared for retirement.

What is the reason given for the cancellation of the dance?
(A) An issue with the venue.

(B) Bad weather.

(C
(D

) Employee requests.

) Employee overtime.

When will the special event occur?
(A) In four months.

(B) This coming Saturday.

(C
(D

Next Saturday.

)
) Tonight.

This is the end of the Listening Comprehension test.
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Part Il Reading Comprehension K3Z47 50%

Section | : Vocabulary
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21.

22.

23.

24.

25.

26.
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It remained unclear whether Mr. Chang's ___ as the honorary doctorate
would be approved by the committee.

(A) nourishment (B) nomination

(C) obsession (D) obligation

We have strong technology strength and excellent quality, and our staff
members have ___ experience.

(A) ambiguous (B) aboriginal

(C) abundant (D) affordable

Should there be any natural disaster, riot, uprising, or war, the government shall
the locals to a safe area.

(A) evacuate (B) evaluate

(C) immolate (D) illuminate

We are confronted with several ____ tasks, and right now the hardest one is
to effect an all-round reform of the price and wage systems.

(A) tolerable (B) formidable

(C) charitable (D) dispensable

Food __ standards can affect the food and beverage outlet's income if they
are not meticulously set up and inspected.

(A) hurdle (B) hybrid

(C) hypocrite (D) hygiene

The mayor will ___ over a meeting this afternoon that will pave the way for
plans to build a new domed stadium in the suburb of the city.

(A) precede (B) prescribe

(C) presume (D) preside



Rt EREBEGEER ARG &

27. The ability to accurately record business is of vital importance for
accounting professionals in any business or organization.
(A) transactions (B) transportation
(C) transmissions (D) transformation

28. The protesters submitted a letter to all lawmakers urging them to take initiatives

to a government official for bribery and corruption.
(A) implement (B) impede
(C) impeach (D) improvise
29. Animals use a whole range of , visual, and chemical signals in their
systems of communication.
(A) mournful (B) acoustic
(C) lucrative (D) menial
30. The research findings suggest that our drive to drink coffee may be
embedded in our genes, but it still needs further studies.
(A) eternally (B) perpetually
(C) permanently (D) tentatively

This is the end of Part |l Section | .
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World Heritage Sites are places in the world which are extremely significant from
a cultural or natural perspective. These places are selected by the United Nations
Educational, Scientific and Cultural Organization (UNESCO). In order for a site to
_ 31 on the World Heritage List, it must meet specific criteria. For instance, one
cultural criterion is that the site should be a distinguished example of a traditional
human settlement or of land-use which is representative of a culture or of human
interaction with the environment. One natural criterion is that the site should contain
superlative natural phenomena or areas of exceptional natural beauty and aesthetic
importance. The inscription of a property on the World Heritage List is not only
recognition of its outstanding universal value and integrity but also recognition of
the need to protect and manage it. _ 32 , the World Heritage List includes 1052
properties, of which 814 are cultural, 203 natural and 35 mixed sites.

World Heritage Sites indeed have made the tourism industry explode at a
remarkable rate. _ 33 |, the rapid growth of tourism over recent decades has
turned out to be both a challenge and an opportunity. On the one hand, tourism
development at such sites can have crucial implications for their protection as well
as the potential to bring about economic benefits supporting site conservation
and the local economy; but on the other hand, poorly managed and uncontrolled
tourism can have severe consequences on the site's integrity, _ 34 its value
and impede long-term financial development. Thus the demand for a sustainable
approach to planning and administration of tourism is inevitable. When site
managers and government authorities collaborate with local communities, tourism
can be advantageous to sites and citizens alike, enhancing economic growth _ 35
addressing preservation needs and reinforcing the identity and well-being of local
communities. When managed effectively, tourism allows communities to flourish
and sites to remain intact.



31.

32.

33.

34.

35.

(A
(B
(C
(D

inscribe
inscribing

be inscribing
be inscribed

N N S N

(A) Meanwhile
(B) Before long
(C) At times
(D) At present

(A) Furthermore
(B)
(C) Accordingly
(D) Otherwise

Nevertheless

(A
(B
(C
(D

alleviate
manipulate
deteriorate
reiterate

N N S N

(A) while
(B)
(C) before
(D) until

after

This is the end of Part Il Sectionll.
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Text 1

The world's movie capital is not Hollywood but Bollywood. "Bollywood" refers
to Hindi-language cinema produced in Mumbai (formerly Bombay). The name
"Bollywood" is a portmanteau derived from Bombay and Hollywood, the center of
the American film industry. However, unlike Hollywood, Bollywood does not exist as
a physical place. Bollywood's film production center is a government-owned studio
facility known as "Film City" in the northern suburbs of Mumbai. It is important to
note that "Bollywood" is a term often misused to encompass all Hindi films, when
in fact it only refers to movies produced in the region of Mumbai. Bollywood is the
largest film producer in India and one of the largest centers of film production in the
world.

Bollywood plots tend to be melodramatic. They frequently use formulaic
ingredients such as unfortunate lovers and angry parents, love triangles, family ties,
sacrifices, corrupt politicians, kidnappers, villains, siblings separated by fate, and
convenient coincidences.

Dialogues in Bollywood films are usually not written in adorned Hindi so that they
can be understood by the largest possible audience. There has been a growing
presence of Indian English in the dialogue and songs as well. Bollywood films are
mostly musicals, and are expected to contain catchy music, usually a mixture of
Indian and Western music.

Bollywood is the world's most prolific film-producing center. Although one
hundred and fifty U.S. films arrived in India in 1998, only the blockbuster Titanic
has ever made India's top five list. Indian films have also become an international
obsession. The cinema's global audience is estimated at between 3 and 4 billion—
half of the planet.

10
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36. In the dialogues of Bollywood films, what kind of language are they usually
written in?
(A) American English.
(B) Flowery Hindi.
(C) Formal Indian English.
(D) Unadorned Hindi.

37. What may be the best title of this passage?
(A) The Popularity of Bollywood.
(B) An Introduction to Bollywood.
(C) The Bollywood Craze.
(D) A Comparison Between Hollywood and Bollywood.

38. What does the word "encompass" in the first paragraph mean?
(A) Include.
(B) Empower.
(C) Facilitate.
(D) Generate.

39. What can be inferred from this passage?

(A) Bollywood plots are extremely unpredictable.

(B) People do not go to Hollywood movies nowadays.
(C) Bollywood movies are gaining popularity around the world.
(D) U.S. films arrived in India before 1998.

40. Which of the following statements is TRUE?
(A) The term "Bollywood" refers to all Hindi films.
(B) Bollywood does not refer to a physical place.
(C
(D

) Bollywood plots often use formulaic ingredients such as lucky lovers.
)

Western music is rarely used in Bollywood films.

BE-E RS
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Text 2

Have you ever wondered what it would be like to know how much pain someone
is experiencing? Or have you ever tried to send a telepathic message to a partner

in transit to "buy me a cup of coffee on your way home"?

In a recent interview, Facebook CEO Mark Zuckerberg boldly said: "One
day, | believe we'll be able to send full rich thoughts to each other directly using
technology. You'll just be able to think of something and your friends will immediately
be able to experience it too if you'd like. This would be the ultimate communication
technology." Will this fanciful idea of brain-to-brain communication come true some
day?

From a purely technical standpoint, it is possible to "read" a person's brain
activity and get a sense of what that person is thinking. When electrodes are
attached to the scalp, or implanted into the brain, they can reveal something about
brain activity. But reading the signals is one thing; decoding them is another. The
way a person experiences thinking involves many parts of the brain operating
simultaneously. Picking up all the signals that make up a thought in the brain would
require sticking electrodes into lots of different areas. With the computing power
available today, scientists could probably make sense of this complex pattern of
electrical signals. However, a person's thoughts are more than just the simple sum

total of voltage and current.

Nobody can predict exactly what patterns might be linked to a given set of
thoughts. Stocco, a research scientist at the University of Washington who took part
in the motor cortex experiment, was somewhat optimistic about Zuckerberg's vision
though. "His scenario is far, but not unreachable," he said. "We could get there,

given adequate work and knowledge."

12
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What is the best title of this passage?
(A) A Rumor About Zuckerberg.

(B) An Insight Into Zuckerberg's Mind.
(C
(D

) A Discussion of Zuckerberg's Vision.

) Zuckerberg's Bold Announcement.

What does the word "it" in the second paragraph refer to?
(A) Your thought.

(B) Your brain.

(C
(D

) Facebook.
) Technology.

43. According to the passage, which of the following statements is NOT true?

44.

45.

(A) Zuckerberg believes one day human beings will communicate without direct
interaction.

(B) Brain-to-brain communication will become a reality in no time.

(C) From a purely technical standpoint, the ability to read a person's brain
activity is likely to come true.

(D) When a person thinks, many parts of his brain work at the same time.

It can be inferred from the passage that Stocco
(A) is a follower of Zuckerberg

(B) has no faith in Zuckerberg at all

(C
(D

) considers reading signals and decoding them are similar things

) thinks Zuckerberg might realize his vision someday

The word "picking up" in the third paragraph is closest in meaning to
(A) transforming

(B) transmitting

(C) perceiving

(D) underestimating

This is the end of Part |l Sectionlll.
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Section | : Translation #13% (312 # » &£/ 5% > £10%")
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Section Il : Writing 3% L & 1F (20 %°)

48. A birthday is a special occasion, and people usually celebrate it in numerous
ways. Please write one of your unforgettable birthdays within 120 to 150 words
in an appropriate style. Your essay should include at least three paragraphs: the
introduction, the body, and the conclusion.

Please Note: Write your essay on the answer sheet.
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